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FILE ONE: COST ANALYSIS FORECAST (16MARKS)
1 Determination of the forecasted monthly turnover 60 ,00/12 = 5 000 000
1. Determination of the forecasted BEP. BEP = 10,000 FCFA
111, Determination of the forecasted result 60,000,000 x 30% = 18,000,000FCFA.
. Determination of the forecasted fixed cost and the forecasted variable cost

BEP=FC X TO Lets’s denoted gross margin = GM

Gross Margin

10,000 = 6,000,000 x FC = 10,000GM = 6,000,000FC

GM
» pC 100006M _ c="1cum

60 000000 600
Result=GM — FC

1800000 =GN - FC
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600065 M -GM

»> 18000000 ~ GM = ——1 GM - TREGO00O0 -
6000 6000
2959

> 18000000 = GM = S GM = 18003000.5FCFA
> FC= —=x18003000.5 FC = 3000.5FCFA
Forecasted variable cost
60000 — (30005 + 18000000) = 41996999 SFCFA
VC =11996999 5FCFA
{V) Graph Representation of the turnover
- Tixed cost function; ye 3 000
- Gross margin variable function: Y1 = $.30005x, where X concerns turnover
File Two: Supply Management 916marks)

Months Calculations and answers
January 390 000 x i + 5000 = 31 000kg
February &7 1 390 000 x §+ 5000 = 33600kg
March 290 000 x = + 5000 = 36200kgkg
April i3 -
p 390 000 x %i + 5000 = 38800kg
Ma e —
y 390 000 x T + 5000 = 41400kg
June £-3 =
390 000« 1156 + 5000 = 44000kg
Jul 1.6 . g
Y 390 000 x %55 485000 = 46600169@
August o = Dovz
i ; gu _390 000 x i + 5000 = 44‘000.%@%%@
October 390 000 x — + 5000.= 31@&9@%
15 A 3
December 390 000 x — + 5000 =31.000kg "
Total 450 000kg )
; — _
1. Determination of the first @ fde Wg as well as the first date of ordering for the year 2008
First date of delivery ‘

¢ Consumption per da D00k g

; 250000 = 25dats -

t delivery date shall be 15" January
dering for year 2008 £ ' :

ivery 15/01/2008 ‘ -

ext order: 1/03/2008 s

We deduce first date of order 1/03/2008 .

ii. Establishing of the supply budget for the maize (regular period) :
Element January February March
Delivery 67,200 98,300
Initial stock 25,000 61,200 | 27,600
Available stock 92.200 61,200 125,900
ok Monthly consumption 31,000 33,600 36,200
Final stock 61,200 27,600 89,700
Date of orders - 1/03/08
Date of delivery 15/01/08 - 1 15/03/08
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Aprit  Tywe  Jray JAug  TSept

- 89300 o 77600 o
89700 50900 198s00 152200 85000 |
89,700 1140200 18000 129,800 |
38800 111400 46,600 _]44000 138800 ]
50,900 98,800 ; 52,200 ) 85,800 o i L}Eﬂgki__ ,,}'
- 1/05/08 = 1/07/08 = !
- 15/03/08 _[L_; s8¢ j

Quantity delivered in January

31,000/2 + 33,600 + 36200/2 = 67,200

Quantity delivered in March

36,200/2 + 38,800 + 41,400/2 = 98,300

Quantity delivered in June

41m400/2 + 46 600 + 44 000/2 = 89 300

Quantity delivered in August
4400072 + 38800 + 33600/2 = 77600

File three: inventory of cash in the bank (16marks)

1. __ Establishment-of the bank reconciliation statement as at 30/04/08%

Bank account No
Element union bank -
Debit | Credit |
Balance before reconciliation 106,800 ‘ 48,500
Cheque issued \ j=
: Cheque remitted ! 19,000
Agio (78000 — 74 350) | -
Bill domiciled -
POH’s transfer T 4
Bank charges | -
Interest - - | - W
Balance 44 500 44 500 E
Total 214,710 | 67.500 67,500 |
1. Adjustment entries 4
5211 { 107 910
' 104700
3210
675 ; Discounting of bills of exchange ; : 3650
a2 - Supplier bill payable 165 500
631 Bank expenses 1 060
5211 | Bank (union Bank) 170 210
According to bank reconciliation credit
1
File four: Increase of Capital (16marks)
. A Determination o amount of capital before and after the increase
- Capital before increase -22.2% ‘"Tf" 200990 — 500 000 000FCFA

- Capital after increase
500 000 000 x 1.6 =800 000 000 FCFA

e
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Contribution i cash.
100 000 000 x 2/20 000 = 10 (00shares
_ incorporation of reserves
(300 000 000 - 100 000 000 % 2)/20 000 = 5 (fbshares
Total shares = 10.000 + 5000~ 15000sharcs
il. Fraction of the new capital In cash paid up o the start of December 2003
50000000 _ 1

22— =
200000000 4
1. Issue price of the new cash sharcs

v, Issue price of the new cash shares
500 000 000+100 000 000
000 __ 30 000 FCFA
10 000 e § doe s 2
V. Determination of the number of sharcs that were paid 1n anticipatien 1N March 3 000

000/(20000/2} = 300shares _
i1. Reconciliation of the journal entries of the nlgl_"easing of capital in March 2(5683
1/03/08 ' g &N
Shareholders contribution 10 cash
Shareholders qubscribed uncalled
Uncalled subscribed capital
Uncalled 1ip, cubscribe called up

i
B et

100 000-000
100 000 000

Issue Premium

\ 100 000 000 \
Promises

DO 203 000 000 l
= Local bank 1l
Shareholders-paymien 200 000 000 ‘
4616 Shareholders anticipated 3 000 000 "
DO i
|~ { Unpaid, subscribed ali&l 100 000 000 '.

1013 Subscribed capital ga 100 000 000

Concentratio Of acca

100 060 000 '!
| 100 000 000 l

File five: Appro ‘viation of Profitin APLC (16marks)
1, Determination of the amount of the dividend di stributed
- Dividend per share
o Contribution in kind
D x 100=27 778=D:2500F
. Contribution in cash
P D x 100 19,445 = d = 1750F
1 e« Amountto dividend distributed
2500 x 500 x 17500 x 2000 = 4750000FCFA
ii. Determipation of the statutory interest rate and the super dividend per shae
_ Statutory interest rate
Nominal value of share
50000 000/ (Z 000 +3500)= 20 000FCFA
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Statutory interest on contribution in kind per share
(2300 — 1750)/9x12 = 1000F
Statutory interest rate

BOODOEE . 4 6 = - = 40002100 504
100 20000 :
Super dividend per share = 2500 - 1000 = 1500FCFA

11i. Determination of:
- Total super dividend
1500 x 2500 = 3750000F
- Total statutory interest
Contribution in kin: 500 x 20000 x 5% = 500 000

Contribution in cash (1/2): 2000 x 20000 x 5/0 == 1000000

2000 X 20000 x 5 X 2X3
Contribution in cash (1/3): 1/10/08 = = 250000
Total:: 500000 + 1000000 + 250 000=1750000F

Total gross dividend

3750 0(}0 #+ 1750 000 = 5 500 000 FCFA

1v. Determination of the amount of the net accounting profit o

let’s consider P = net accounting profit

- Accounting net situation

Capital = 50 000 000

Over-value 2 500 000

Fictitious expenses I = 500 000

Reservation allocated (P= Gross dividend) P,
$ N.AS =P +46 500 000 ;

- Mathematic value ex-coupon
RO 21520 = 46 500,000 + P = 53 800 m, ? &

=P =153 800 000-46 500 000=P =7 3

R, T S R e e
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